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OO0 dp

O00000 $\text{dp}$ 000000000 DOOOO0OOODOOOODOQO $0(nk™~3\log n)$00 O $k$
goboooood

0og

SP1716

gd

O0O000 $n$000000C0OOODOO

1. 0000
2. 0000¢gris0D0C000DO0ODO0OOODOOOO

gd

00000000 $\text{dp}s 0000 $f()$s 0000 $[1,$000000000O0%g()$T0DODO
$(li$ 00000000 0DOOOO

$$ f(i)=\max(f(i-1)+a_i,a_i),g_i=\max(g(i-1),f(i))=\max(f(i-1)+a_i,g(i-1),a_i) $$
oo oooo

$$ \begin{equation}\begin{split} (ABC) {i,j}&=\sum_{k=1}"n (AB) {i,k}\oplus C {k,j} \\
&=\sum_{k=1}"n\left(\left(\sum_{t=1}"~nA {i,tHoplus B_{t,k}\right)\oplus C_{k,jH\right)\\ &
=\sum_{k=1}"n\sum_{t=1}"nA_{i,t}\oplus B_{t,k}\oplus C_{k,j}\\ &
=\sum_{t=1}"n\left(A_{i,tHoplus\left(\sum_{k=1}"nB_{t,k}\oplus C_{k,j}\right)\right)\\ &
=\sum_{t=1}"nA {i,tHoplus (BC) {t,j}\\\end{split}\end{equation} $$ 000000 00000O0O0O0O
000 $a\oplus\sum_{i=1}"n b i=\sum_{i=1}"n a\oplus b_i$[]

OO00D0000 $\sum$s OO0 O0O0$S\oplus$ DD ODOODOOODO $\max$ OO $\sum$[J$+$ 0 O
$\oplus$

agoo

$$ \begin{bmatrix}a i & -\infty & a_i\\a_i & 0 & a_i \\\\infty & -\infty & 0 \\ \end{bmatrix}
\begin{bmatrix}f(i-1)\\g(i-1)\\0\end { bmatrix} =\begin{bmatrix}f(i)\\g(i)\\O\end{bmatrix} $$

00000000000 $\text{dp}$ OO
$$ \begin{bmatrix}f(0)\\g(0)\\0\end{bmatrix} =\begin{bmatrix}0\\-\infty\\O\end{bmatrix}
\text{O N\begin{bmatrix}-\infty\\-\infty\\O\end {bmatrix} $$

const int MAXN=5e4+5,Inf=1e9;
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struct Matrix
int val ;
Matrix
_for(i,0,3) for(j,o0,
vallil[j!=-Inf;

Matrix(int a

val =val =val =val =aE
val =val =val =-Inf;
val =val =0;

Matrix operator * (const Matrix &b)const
Matrix c;
_for(i,0,3) for(j,0,3) for(k,O0,
c.vallil[j]=max(c.vallil[j],valli][kl+b.vallkl[j]);
OF

S MAXN<<2 | ;

int a/MAXN!,lef[MAXN<<2],rig[MAXN<<2];

void push up(int k
s[kl=s[k<<1l]*s[k<<1|1];

void build(int k,int L,int R
lef[kl=L,rig/ k!=R;
int M=L+R>>1;
L==R
s kl=Matrix(a[M]);

’

build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update(int k,int pos,int v
lef ki==rig/k
s|kl=Matrix(v);

’

int mid=lef kl+rig/ k!>>1;
mid>=pos
update(k<<l,pos,Vv);

update(k<<1|1,pos,Vv);

push up(k);
Matrix query(int k,int L,int R
L<=lef|k|&&rig|k|<=R slkl;
int mid=lef|k|+rig/ k/>>1;
mid>=R query(k<<1,L,R);
mid<L query(k<<1]|1,L,R);
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query (k<<1,L,R)*query(k<<1|1,L,R);
int main

int n=read_int();
rep(i,l,n)alil=read int();

build(1,1,n);
int g=read int();
q__
int type=read int(),x=read int(),y=read int();
type==

update(1,x,y);

Matrix p=query(1l,X,y);
enter(max(p.val ,p.val g
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